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de Broglie 2.
1. De Broglie (1924) .
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2. (operator)
3.
. r r=r=ix+ jy+kz
‘ P p=—1AV =—ih ii+ji+k£
oX oy 0z

4, F A A
F f(r,p F = f(r,p)
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L=rxp
=T x(—ihV)
| ] kK
=(-lh)| X Yy z
o 0 0O
OX oy 0z
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A ﬁzdj:—|hi¢:q@
F¥=q¥ do
@(p)=Cexpliqe/n)

g
O(p+21)=(p)
Cexpliqe/h)=Cexpliqe/h)-expl(i2ng/ k)
2. exp(i2nq/h)=1
() {q=nn}

() {djm(co):Ee } [m=0.£1,42,%3,
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R ) w
F P(F=g~q+Aq)= ‘Cq‘z-Aq

' C, =jw§5” dr

Y F (¥ ¥ = [Cyp dr
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A 2
> =-h"- ,1 9 (sin&’ijJr .12 9 5
sinf 06 00) sin“ 6 0@
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o ((0.0)-6(0)- 2(o)
100 211 dx (X _1) X=cosf
()= - LR 6(0)= g(x)

) L. d™ cos’ 0—1)
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f(6.0)=06(0) @(p) = N, @™ R"(cos8) =¥,,,(6,0) —
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1. — Stern- Gerlach
Z
2. S’ =s(s+1)p* [s=1/2] |S|=+/3n/2
S, =mg m =+1/2 cosHZSZ: s
S| /s(s+1)
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P, =/S(S+1) 7

- z m,=-S,~S+1,---,S-1,S

z Pe =mg 7
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2. Pauli
3. Hund
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—Hund
. J
P, =JJ(J+1) 7
y z m=-J,-J+1,---,J-1,J
z P,=m7
Z

— P, =JJ(J+1) A
— Z P, =m;h
m =-J,-J+1,---,J-1,]
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Fe  (Z=26)
. — 3p® L S J 0
. 3d¢
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Hy(r)=Ey(r)

#(r.t)=y,(r) exp(-iE,t/h)

V(r)
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1. Hy(r)=Eyp(r) w(r,0,0)=0(r)f(6,0)
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PSU(I‘ PSRN s I‘j ,---,rN,t)zT(rl,rz,---,rj,---ri,---,rN,t)
PSU(r PYCEDN X ..rj ,...,rN,t):qSU(rI,rZ,...,ri ,...rj,...,rN,t]

PzijT(rp r2,..., ri ,...rj KRR rN,t>: qZSU(rl, rza"'a ri ,...rj KR rN ,t)
1 1 :Y/(rl,rzj...,ri,...rj,...,rN,t)
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3. Fermi Bose
3 11
Fermi Rng(rl,rz,...’ri,...rj,...’rN,t):(_])Y/(rl,rz’...,ri,...rj,...,rN’t)
Fermi WA
T(rprz,...,ri,...rj,...,rN,t):_W(rl,rzj...,rj,...ri,...,rN,t)
Bose _
T(rljrzj...,ri,...rj,...,rN,t) _SU(rI’rZ’...,rj’...ri’...,rN,t)




8§ 2.1 V

4. Fermi Pauli
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